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Directions : Answer the following questions based on the given information.
The graph given below shows the number of mobiles manufactured (in hundreds) by the different
companies in 2020 and the respective peruenta$ of those mobiles which are defective.
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What is the difference between the defective mobiles manufactured by Nokia and defective mobiles

manufactured by Oppo in 20207
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What is the ratio of the number of Realme mobiles that were sold in 2020 to the number of Samsung
mobiles that were sold in 2020 (Note : Only non- defective mobiles are sold?
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In 2021 the number of mobiles manufactured by Micromax mobiles increased by x% and the
number of defective mobiles manufactured by Micromax mobiles also increased by 20% with

respect to previous year. If number of mobiles that were sold in 2021 was 7700, then find the value

of x? (All non defective mobiles are sold) 2021 ﬁn@ﬁwnﬁammﬁﬁanﬁawﬁraﬁmﬁ
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Total number of mobiles manufactured by Realme and Samsung together in 2020 is what percent of the
number of mobiles manufactured by Micromax and Oppo together in 20207
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a) 75% b) 88% c) 95% d) 90% e) 80% @ @ g @ @
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If 75% of the defective mobiles manufactured by Oppo were refurbished and 80% of them sold at lower
price, then find total number of refurbished mobiles of Oppo which remained unsold.
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Directions [01 - 05]: Read the given information carefully and answer the related questions
Following bar graph shows the percentage of number of toffees sold by five different
shopsi.e. P, Q, R, S and T on Monday.

Total number of toffees sold on Monday = 5000
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If Shop T is selling only three types of toffees and 36% of the total toffees
sold were orange toffees, 42% of the total toffees sold were mango toffees,
than find how many paan toffees were sold from shop T?
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What is the difference between number of toffees sold from shop Q and

that from shop S?
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a) 450 b) 650 c) 400 d) 600 e) 500
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If number of toffees sold from shop Q and shop V are in ratio 29: 33
respectively, then what is the difference between number of toffees sold
from shop P and shop V?
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a) 1050 b) 850 c) 750 d) 950 e) 650
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Number of toffees sold from shop R is what percent more/less than
number of toffees sold from shop P?
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a) 6.75% b) 10.25% c) 12.5% d) 14.75% e) 8.25%
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A certain number of persons can complete a work
in 34 days working 9 hours a day. If the number
of persons is decreased by 40%, then how many
hours a day should the remaining persons work
to complete the work in 51 days?

Fo At HasL gfafed 9 = & #X vl & &1 34
i o 90 X wha €1 A Al 1 G= H 40% HH
3 T Srar 2, @ 919 =afeast &t 51 7 § 3¢t e 6
90 & oh faw gfd o7 fordq =i i e g ?
(1)9 (2) 8 (3) 12 (4) 10




36 persons working 8 hours a day can do 3 units
of work in 12 days. How many persons are re-
quired to do 5 units of that work in 16 days, if
they work for 6 hours a day?

36 =fad Ffafed 8 =2 &H ek [hdl &1 &l 3 SHIAl
w1 12 f7 o g0 X g 2| SH FE w5 gHEA
gfafed 6 =2 @™ ®eh 16 7 7 @ & o fau feaq
Hfaqal i ATETARA BFTT 2
(1) 50 (2) 55 (

(4) 45




Of the 1000 inhabitants in a town 60% are males
of whom 20% are literate. If of all the inhabit-
ants, 25% are literate, then what percentage of
the females of the town are ilterate ?

T TR § 1000 fafaal 5 9 60% &9 € f58 9 20%
e g afg geft franfaal § 25% @R €, @ TR ¥ fadd
gfasrd Afecd der € 2

(1) 27.5 (2)325  (3)37.5 (4)225
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The number of seats in a cinema hall is increased
by 25%. The cost of each ticket is also increased
by 10%. The effect of these changes on the reve-
nue collection will be an increase of

fordt fammn &fa &l Hiei o1 §& H 25% i gig &l TS|
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(1) 37.5% (2) 45.5% (3) 47.5% (4) 49.5%
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